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I a. Define the following diode parffi(lrs ' ,'l:i"'Jelrne me louowmg Clooe parkfll{fltQrs 
...tu*,ry';D Static resistance ii)Mmhmic resistance iii)*;;Reverse saturation current

iv) Peak Inverse voltage '* tlF Knee voltage. & d (05 Marks)
b. With circuit diagram fudT neat sketclq explairyffin common base input and output

nhqranfpricfino fnr nnr{fl"qnT[ctnlE1**o\,u /oQ ]\zrortrs\ffistor. #4r, (08 Marks)
a transformer secondar,lt-toltage 60V - 0 - 60V, supplies a load

characteristics for
c. A full wave recti

resistance Rr =
i) maximum 6f current in cond
iit) outpu( dq*lb

'he diode forward resieqan8e-Rris tdO. Determine
current in conduct!ffibdes iD dc value of current through R1
and iv) PIV adrd$Etach diode. (07 Marks)

c. Define Common*- base current gain ahfupomnr
Derive the relatiaffiip between them,, I@a dfiansisto

(05 Marks)
current gain of transistor.

oqY*ri.torn^ td*ffi,Ir = 1.6:me, then frnd B
of transistor. ffi *,J-li$ 

"" 
*,""'*' (07 Marks)"%/ 

h,, ., 
" **- d

" 
* 

4ffi Module-2 ,ryry@3 a. With.gifcarfu diagram and negp$ffi equations, exfilalgihe base bias circuit. (05 Marks)
b. For M*tvbltage divider Ssg''dfcuit using silicop ffansistor, V.. = l8V , Rr : 33KO ,

R, a lfKO . R = l.2I{*}W Rp. = lKO. t56i# approximate analvsis. determine Ve , Vc,P AtZXg_,_& = l.2lS**'%U Rr = lK(};ffi{;rg approximate analysis, determine Vr , Vc,
{fu , Ic and Vcr. - &fl ."*5.1*' (08 Marks)

p.ffitf, a neat circuitS{gSanL derive un .ffi6n for output voltage of non inverting amplifier
MYpusing op - amp. & (07 Marks)

fu S ,q*rrr#:'

a. For the.ffi*n in fig.Q4,ff#r,fl.t - point values and draw the dc load line. rhe
transistor hai"Vsp = 0.7V aQ9 $ = SO. (07 Marks)
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b. Mention the characteristics of ideal op - amp.

c. Calculate the output voltage for the circuit shown

lOk o

Fie.Qa(c)

Convert the following : i) )ro = (?)s.

SimpliffY: ABC+AB

t) Y:h, +

RS flip flop," {ri'

17ELN15/25

(05 Marks)
(08 Marks)

(06 Marks)

(08 Marks)
(06 Marks)

(06 Marks)
OR gate.

(06 Marks)

(08 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

(06 Marks)
(06 Marks)
of a good
(08 Marks)

bft
l t+l+,

5a.
b.

c.

6a.

b.

c.

10 a.

b.
c.

i) basic gates only ii) 
, 
NOh gates only. ,n*'*l

Explain half adder cir.gwil" arrd realize using basic gptb*Explain half adder .",#+

.0..*,''., MOd
What is flipflop? Expldin"{he operation of7a.

b.

c.

8 a. Explain &p dperation ofNANff?BJe latch. 
"";. Y (os wtartrsla. -E^Prilur tf{P t Psrolrt,ll vl rrru\-sif r61*1v rarv[. rq \^

;. risi tnehaffert f"ut*"t of 805J lffi{cro controllet.' @i (07 Marks)

c. IntertuC6 stepper motor 4g;gO5t microcontroller with a neat block diagram. Ui!t:]".ir:
uil$ffifla haffstep sgfup.rce- (08 Marhs)working principle, fi 

,*\, .,r.r '' J' #"" --:n

.*.r*%g' !!grc'
ffiPfxpUin the bbcffiffip$am of communid'ation system'

b The total Do.'ni:ercdfrient of an Alvtrmqil.bve is 2.64KW a
ffi'PBxptain the bbcffifdam of communid'ation system' (06 Marks)

b. The total po6r eoiiient of an Atil*w€ve is 2.64KW at a modulation index of 80%.

Determine th#bBwer content of j}' 'tarier ii) each sideband. (04 Marks)
,"'; &i[n-]* l .r- --^-:-^^- 

'w,{.:t *L^}^ ^l^^+-.i^ +-^-^,{,,^^- /-t A ltlrorlrc\c. Write a n&#fr D thermistor"u *ti) photo electric transducer. (10 Marks)

4*-

*sryr* oR
Give a comparison of nW&dnO fU.
with a neat circuit di-agrdrn, explain the demodulation of AM signal.

Give the classr#kHon of transducers. Also mention the desirable

transducer' 

;-q$" *****
j

.4, ! i "w'

{ :" e
*1)

|t

2 of2

properties


